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Problem 1 (Weight 2,0 - approx. 30 minutes)

A boom is attached by a ball-and-socket joint in A and attached to a cable-pulley system

in B. Cable CED is attached to the wall in point C and D. A force Fis exerted on the

boom AB as shown in the figure. Neglect the mass of the boom and the diameter of the
pulley. All relevant data are indicated in the figure.

Een hefboom is door middel van een bolscharnierdeamuur verbonden in punt A en is
in punt B verbonden aan een katrol systeem metippehn kabels. Kabel CED is in punt
C en punt D aan de muur verbonden. Op de hefboomak8t een kracht F uitgeoefend,
zoals aangegeven in de figuur. Het gewicht vanefledom en de diameter van de katrol
mogen worden verwaarloosd. Alle relevante gegestaam in de figuur.

C

5m

Questions:

a) Calculatethereactionsat A, and the cable forcesin cables BE and CED as afunction
of F and table them in the table on the next page. All results must be supported by
calculations.
Bereken de reacties in A en de kabelkrachten ielsa®E and CED als functie van F
en vermeld ze in de tabel op de volgende pagina.résultaten moeten van
berekeningen worden voorzien.
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b) Cable CED can sustain a maximum tensile force of 800 N before it fails. Calculate
the maximum force F that can be exerted on the boom.
Kabel CED kan een maximale trekkracht van 800 Nrstaan voordat hij breekt.
Bereken de maximale kracht F die op de hefboonwiaden uitgeoefend.
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Problem 2 (Weight 2,0 - approx. 30 minutes)

Thetrussin the figure below isloaded in H and C with vertical loads as shown in the

figure. All relevant values can be found in the figure.
Het onderstaande vakwerk wordt in H en C belastdeetangegeven verticale krachten.

Alle relevante gegevens kunnen in de figuur wogdonden.

Questions:

a) Determinethereactionsin A and in B and draw them in the figure in the direction in

which they act on the structure in reality.
Bepaal de oplegreacties in A en in B en teken ohede figuur zoals ze in

werkelijkheid op de constructie werken.
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b) Identify the zero-force members in the structure.

Identificeer de nulstaven in deze constructie.

Calculate the normal forcesin members EG, DE, AE, BE and BD using a method of
your choice with the correct sign for tension (+) or compression (-) and put themin
the table on the next page. All results must be supported by calcul ations.

Bereken met een methode naar keuze de krachtensitaderEG, DE, AE, BE en
BD met het juiste teken voor trek (+) en druk (-)venmeld ze in de tabel op de
volgende pagina. Alle resultaten moeten van beiagen worden voorzien.
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d) Draw the force polygon for joint E (scale: 1 cm = 20 kN)
Teken de krachtenveelhoek voor knooppunt E (krasbltaal 1 cm = 20 kN).
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Problem 3 (Weight 2,5 - approx. 45 minutes)

The kinked hinged frame below isloaded at hinge S by aforce F = 60 kN and by a
distributed load q = 8 kN/m acting on part AB. All relevant values can be found in the
figure.

The geknikte scharnierligger hieronder wordt temgike van het scharnier S belast met
een puntlast F van 60 kN en over het deel AB belasteen gelijkmatig verdeelde
belasting g van 8 kN/m. Alle relevante gegevensdm in de figuur worden gevonden.

8 kN/m
Avd I JIJJdJ1] D
Piw i l
— 60 kN 3m
S 3m
C
4m 4m 2m  4m 4m

Questions:

a) Determinethereactionsin A, B and C and draw them in the figure in the direction in

which they act.
Bepaal de oplegreacties in A, B en C en teken dgiegreacties in de figuur zoals ze
in werkelijkheid werken.
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b) Draw the normal force diagram (N-diagram) of the frame and use the correct

deformation signs. Mention all relevant values.
Teken de normaalkrachtenlijn voor de ligger en vadraarbij de juiste vervormingstekens.

Vermeld alle relevante waardes.
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¢) Draw the shear force diagram (V-diagram) of the frame and use the correct deformation

signs. Mention al relevant values.
Teken de dwarskrachtenlijn (V-lijn) van de liggenermeld de juiste vervormingstekens.

Vermeld ook alle relevante waardes.

d) Draw the moment diagram (M-diagram) of the frame and use the correct deformation
signs. Mention all relevant values and draw tangents where necessary.
Teken de momentenlijn (M-lijn) van de ligger emwveld de juiste vervormingstekens.
Vermeld alle relevante waardes en teken, waar rakeligk, de raaklijnen.
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Problem 4 (weight 2,0 — approx. 45 minutes)

The figure below shows a kite and the cable to which it is attached. They are subjected to
auniform distributed load q = 4mg/h [N/m] due to wind. The kite itself is subjected to a
vertical lift L and adrag force D. The kite has weight W= mg. The cable is attached to

the ground by afixed hingein A. The weight of the cable may be neglected. All other
relevant dimensions can be found in the figure.

De onderstaande figuur toont een vlieger en de lkabaraan deze vast zit. Deze worden
onderworpen aan een uniform verdeelde belastingdgrg/h [N/m] veroorzaakt door de
wind. De vlieger wordt zelf onderworpen aan eeradfaacht L en een weerstandskracht
D. De vlieger heeft gewicht W = mg. De kabel isds¢éigd aan de grond met een
scharnier in punt A. Het gewicht van de kabel magden verwaarloosd. Alle andere
relevante afmetingen staan in de figuur.

A 4

Questions:

a) Derive the cable equation y(x) asafunction of d, a, and h (Note: Pay attention to
the location and orientation of the coordinate system in the figure).
Bereken de kabelvergelijking y(x) als een funciie &, a, en h. (Let op de locatie
en de oriéntatie van het assenstelsel in de figuur!
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b) Cadculatethereactionsin A, thelift force L and the drag force D as a function of
m, g, d, aand h.
Bereken de reacties in A, de draagkracht L en derstendskracht D als een
functievanm, g, d, a, en h.

c) Calculate the maximum normal force in the cable as afunction of m, g, L, aand h
and where it occurs (x and y coordinate).
Bereken de maximale kabelkracht als een functiewag, L, a, en h en waar
deze optreedt (x en y coordinaat)
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Problem 5 (Weight 1,5 - approx. 30 minutes)

Beam ASBCD has a fixed support in A and is suspended from two force member EC in

C. The beam isloaded by a uniform distributed load q acting on section CD and couple
gL?in B. Sisahinge. All other dimensions are mentioned in the figure.

Balk ASBCD is ingeklemd in A en hangt aan pendsi§&. The balk wordt belast door
een uniform verdeelde belasting werkend op se@ieiCeen koppel dlin B. S is een
scharnier. Alle overige dimensies staan in de figuu

E
q
N w
§ A § /B e 4 A 4 A\ 4 A\ 4 A 4
C D
&: ﬁ“L E‘.: > < >
L L L L

Questions:

a) Usingthe principal of virtual work calculate the moment reaction in A. Clearly
indicate which virtual displacement field and which sign conventions have been used.
Gebruik het principe van virtuele arbeid en berekehinklemmoment in A. Geef
duidelijk aan welk virtueel verplaatsingsveld erlkegekenafspraken zijn gebruikt.

E

p>J
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b) Using the principa of virtual work calculate the shear forcein B. Clearly indicate
which virtual displacement field and which sign conventions have been used.
Gebruik het principe van virtuele arbeid en berekerdwarskracht in B. Geef
duidelijk aan welk virtueel verplaatsingsveld erlkegekenafspraken zijn gebruikt.

p>
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